Form 3 JUNE EXAM MEMO 2016

QUESTION 1
11 8x°® 1A1A 2
1.2 3‘or 81 2
2
1.3 5a’b 2T :
3 1 invert
3ab9 20a 1A
= 1A
4a’h 3
1.4 2 X4 x2 1A
F 7 = ? 1A 2
15 2 1A
1
2.1 Quadrinomial 1A 1
2.2 2 1A 1
2.3 5™ 1A 1
2.4 1 1A
2 1
25 N 1A 1
2
2.6 2 1SUB
-3(2)° 4—5—(2)2 +2=-97 1A 2
2.1 3x% +24+9x 42X — (X2 —2x +2) IM
) s o 1change
=3X"+2+9X+2X" — X" +2Xx-2 sign
=2X° —4x* +11x 1A 3
3.1.1 _8xy2 +4X2y 1A1A 2
3.1.2 | 9a’h?*c —12a’b’ —3a’h?c? 1A1A1A | 3
313 | 252 _x-3 1A1A1A | 3
314 | x*-8x-16-x*+3x 1A1A
— _5x+16 1A ;
3.15 2 2 1A1A1A
LS ;
4 4 16
316 | —x3y® 1A1A1A | 3
317 36X3y6 1A
X 1simlify
= /36x°y°
—6xy° 1A 3
321 | 4t(2t-1) 1AIA |2
322 | (2a-5)(2a+5) 1AIA |2
323 | (x=3)(x-2) 1AIA |2




324 | 2(x*-1) 1A
. 2 2
=2(x* =1(x" +1) 1A
=2(x =D(x +D(x*+1) 1A 3
325 | x*+81 no factors 1A 1
4.1 X—3 y 2X 1M
2 (x=3)(x+1) 1 factor
1
(x+1) 1A
3
4.2 3X 1A
o 1A 2
4.3 5(—x* + 2x) — x(15x* —5) 1M
By 1lcd
_Ey3 _ 3
X(-XP +2)  5(3x2 +1) _ 5x” +10x —15x” + 5x 1A
+ o9X
; > 20x° +15x
=—X*+2-3x*+1 o =———
4x* +3 >
== 2
= SX(-4x" +3) 1 factor
5X
=—4x*+3 1A 5
5.1 2X—-5x=16+5 1M
-3x=21
X=-1 1A 2
5.2 2x—(x-1)=6 lcd =2 11lcd
2X—X+1 =6 1A
X=5 1ICA |3
5.3 (x-1)(x+1) =0 or x*=1 IM
x=1;-1 x=t+/1 1A
x=1;-1 1A 3
54 3X—4X>-6+2 1A
X<4 1A 2
6.1 6y +3y +90° =180° (£'s on str line) IM
lreason
9y = 90° >
y =10° 1A 3
6.2 m =125° (Z's on str line) 1A 1R
_ 0 ' ' .
n=>55 (vert opp Z's or Z's on str line) 1A 1R
p=70° (vert opp £'s)
q =55 (sumZ's A or ext £ of A) 1A 1R
1A 1R
r=125° (£'s on str line or ext £ of A) 1A 1R 10




6.3 X +44° = 75° (ext £ of A) IM1R
x =30° 1A
750 =44° 1y (corr £'s AD//BC) 1R
30°=y 1A
6.4 E, =X (alt £'s CS//HN) IAIR
W, = x (iso A) 1A 1R
X =55 (sum £'s A) IA1R
6.5 In A ABD and A CDB 1A
B, = D, =90° IA
AD =CE (given) 1A
BD =BD (common) 1A
A ABD = A CDB (RHS) 1A
6.6 64° + x + x =180° (is0 A ; sum Z's A) 1A
x = 58° 1A
2y =58° (opp £'s of parm) 1A
y =29° 1A
C, =58 (alt£'s AD//BC) 1A1R
7=180° —29° —58° (sum /'s A) 1?
z7=93"
6.7 Trapezium and Kite 1A 1A
71 | CE=30mm (BE =90mm) 1A
CD =50 mm (opp sides parm) 1A
502 = 302 + DE? (pyth)
DE =40 mm 1A
. Perimeter = 2(60) + 50 + 40 122
=210 mm
7.2 1
A:%(60+90)x40 1SA“b
— 3000 mm? 1A
7.3 Area of parm =60 mm x 40 mm 1A 1CA
1CA

= 2400 mm?




